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Asurvey asked 90 people how much money they gave to charity in one month.
The histogram shows the results of the survey.

(a)Complete the frequency table for the six columns in the histogram.

50 60

[5]

Use your frequency table to calculate an estimate of the mean amount these 90 people gave to charity.

 $ ................................................ [4]Answer(b)

(b)
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 80 students were asked how much time they spent on the internet in one day.
This table shows the results.

10

Time (t hours)

Number of students

0 < t Y 1

15

1 < t Y 2

11

2 < t Y 3

10

3 < t Y 5

19

5 < t Y 7

13

7 < t Y 10

12

(i) Calculate an estimate of the mean time spent on the internet by the 80 students.

[4]

Answer(a)(i) ..................................... hours [4]

On the grid, complete the histogram to show this information.

t
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(b)

(iii)

(ii)

........

Uses the
internet

Does not
use the
internet

........

........

........

The probability that Chaminda uses the internet on any day is

The probability that Niluka uses the internet on any day is 3.4

(i) Complete the tree diagram.

Chaminda Niluka

Uses the
internet

Does not
use the
internet

Uses the
internet

Does not
use the
internet

[2]

Calculate the probability, that on any day, at least one of the two students uses the internet.

Answer(b)(ii) ............................................... [3]

Calculate the probability that Chaminda uses the internet on three consecutive days.

(iii) ............................................... [2]

35 .
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Answer(b)
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Frequency
density

1

 

Write down the interval which contains the lower quartile.

Height (h cm)

Frequency 

150 < h Ğ 160 160 < h Ğ 165 165 < h Ğ 180 180 < h Ğ 190

105 9 18 

The table shows information about the heights of a group of 42 students.

(a)Using mid-interval values, calculate an estimate of the mean height of the students.
Show your working.

0
150 155 160 165 170 175 180 185 190

Height (cm)

[4]
_____________________________________________________________________________________

Answer(b) ............................................... [1]

Complete the histogram to show the information in the table.
One column has already been drawn for you.

 ......................................... cm [3]Answer(a)

(c)

(b)
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4

Find

(i) the median,

(ii) the upper quartile,

(iii) the inter-quartile range.

(iii) 

Felix asked 80 moto Froisr tms ohroe waw mesoamney G hCoSEu rasn dth Ae lierv ejlo ruesronueryce tso, voiskit t
He used the results to dra w a cumulative frequency diagram. 

(i) 

(ii) 
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Answer(a)
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(c) 

(d) 

(b) 

(i) 

(ii) 

part (c).

Time in hours (t) 

Frequency

0  t 

20

 2 2  t 

25

 3 3  t 

18

 4 4  5 

The frequency table shows some of the information about the 80 journeys.

Answer(c)(ii) 

On the grid, draw a histogram to represent the information in your table in 

5 

Use the cumulative frequency diagram to complete the table above.

Calculate an estimate of the mean number of hours the 80 journeys took.

 6 6 

[5]

 8 

[2] 

h [4] 

Find the number of motorists whose journey took more than 5 hours but no more than 7 hours.

 [1] Answer(b)

I Y I Y I Y I t Y I t Y I t Y
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